Linear d>ystems dtations Review

_Lix.;.ue\/-’l&
HX,’,;\/:'G .
by=18 a3k
“\’/_39 -lx +y =0 ,
- ~ly= 0 [8) 5
i [0

| chose a!'“'“""“fﬁ'\ method because €&<¢ l"

2) \/: %xH
3)(-%-}’ = 'Lg
Iy +(3x44) =4

Dx —3% +F =%
Y =-Y Rl

NO
This system has

solution (s).

Uzualn‘m wes i Stnndard Covwm .

.) L
Y: 3)('1
X =(3x-2)="

3%+
X-3x 4374

“dx %
= 3
==) -
| chose W bs #ﬁ"‘%ﬂnethod because O WL
Varable twes aloe

3

4)

\/: ‘-{x + A
y -2 =4
(Yx +2A) -2 =4x
Hx{—&-l:‘{x

Yx= 9x
g 4
= A

TN
This system has ! V\‘C‘ i 'k.solution (s).

7

5
) N T

N\

V= x + | E
V=-2x -3

T

(-1, -1

o
ba
Pl 2535
\\

6) Clearly shade the region representing the solution to the
system of inequalities.
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